For this circuit, we’ll use repeated source transformations to convert this circuit into Norton form.
As a reminder, Norton form is a single current source in parallel with a single resistor.

We are accustomed to looking for series resistors with a voltage source or parallel resistors with a voltage source, but here we see a parallel resistor with a voltage source.

This pair of nodes is shared by both devices since they are in parallel which means the 75 volts from the source is also appearing across the 150 ohm resistor.

Therefore, we can say that there will always be 75 volts across the parallel resistor.

If this is the case, we can remove the 150 ohm resistor without affecting the rest of the circuit.

Now we are left with the familiar series resistor with a voltage source, which can be converted into the parallel resistor and a current source.

The resistance stays the same and the current is the voltage divided by the resistance.

This gives 375 mA.  

Once we make these replacements we are left with the Norton form of the equation.
